Property F (Fall 2007) Estates & Future Interests Exam:

Answers & Explanations
The questions and answers are laid out below.  Correct answers are in bold type.  My comments are in italics.  
(1) Which of the following future interests is initially held by the grantor?

This is a variation on Sample Questions 2 and 58.

(a) Right of entry. This is the future interest held by the grantor that follows a present estate on condition subsequent. 96.8% of you got this right, making it tied for the second easiest question on the test.
(b) Shifting executory interest.

(c) Springing executory interest. A springing executory interest cuts off the grantor’s interest, but is always held by a third party, not by the grantor.
(d) Contingent remainder in life estate.

(2) Which of the following was a finite present possessory interest at common law?
This was a new question. 
(a) Fee Tail
(b) Life estate pur autre vie. 17.5% of you chose this answer, which is a finite present possessory interest no matter when it took place.
(c) A grant “to Henrique forever.”  At common law, you had to use the words “and his heirs” to create a fee simple. The default estate was a life estate, so as in the Ernie and Bert problem we did in class, this grant would have created a life estate in Henrique, which is a present finite essate.  
(d) All of the above.  73% of you got this right.
Questions 3-4 are based on the following grant: In 2002, Jacob conveys Brook-acre “to Karen for life, then to Leigh for life, then to Mady and her heirs.”

This is a variation on Sample Questions 3-4, which were based on a combination of Problems 3C and 3E

(3) Which of the following interests is created by the grant:

(a) Contingent remainder in life estate in Leigh. . By convention, Leigh’s remainder is considered vested even though she has to survive Karen to take possession because no explicit condition is included in the description of her interest.
(b) Vested remainder in fee simple in Mady.  93.7% of you chose this answer, making it the 5th easiest on the test.
(c) Reversion in Jacob. Because both remainders are vested and because Mady has a remainder in fee simple, the time line is filled with vested interests and there is nothing left from which to create a reversion.
(d) All of the above.

(4) Karen died in 2006. Later that year, Mady died with no living heirs, but leaving all her property to the Red Cross in a valid will. When Leigh dies, who gets Brook-acre?

(a) Leigh’s heirs. Leigh had no interest that would survive her death.
(b) The Red Cross.  Mady’s vested remainder would pass through her valid will.  As long as she has a will, it is irrelevant that she has no living relatives close enough to be considered heirs by the state. 88.9% of you chose this answer.
(c) Whoever possesses Jacob’s interests in the property. Jacob had no interests left after the conveyance.
(d) The state. This would be true if Mady (like poor Bugs Bunny in Problem 3C) had died intestate with no living heirs.
Questions 5-6 are based on the following grant:  In 1990, Nicholas dies leaving a valid will that says: “I leave Wade-Acre to Morgan so she always has a place to call home so long as Morgan doesn’t use the property for commercial purposes, then to my nephew Raul and his heirs if Raul reaches the age of 21.  I leave all my other property to my friend Sarah.”

Questions 5-8 are variations on Sample Questions 43-46 and Spring 2007 Questions 21-24.
(5) Which of the following arguments supports a claim that Morgan’s interest is a defeasible fee simple (rather than a defeasible life estate)?

(a) Most American jurisdictions have eliminated the Doctrine of the Destructibility of Contingent Remainders. This may determine the fate of Raul’s interest, but seems irrelevant to whether Morgan’s interest is fee or life estate.
(b) The grantor cannot have intended Raul to take possession of the property while he still was underage. This explains the wording of the grant to Raul, but doesn’t give us information about Morgan’s interest.
(c) The condition regarding commercial use restricts Morgan, not Morgan’s heirs. If anything, this suggests a life estate, since the restriction only lasts as long as Morgan is alive.
(d) Modern American jurisdictions presume that an interest is a fee simple absent clear evidence of intent to the contrary. This is part of White v. Brown.  98.4% of you chose this answer, making itthe easiest question on the test.
(6) Which of the following arguments supports a claim that Morgan’s interest is a defeasible life estate (rather than a defeasible fee simple)?

(a) The grantor’s use of the word “then” rather than “but” (to introduce Raul’s interest) suggests that the interest is a remainder rather than an executory interest. We discussed this argument in connection with interpreting ambiguous grants of this type.
(b) If Morgan’s interest is a fee simple, she can sell it and she would not “always have a place to call home.” This is similar to one of the dissent’s arguments from White v. Brown.
(c) The grantor used “and his heirs” when he wanted to create a future interest in fee simple in Raul. This is one of the dissent’s arguments from White v. Brown.
(d) All of the above.  90.5% of you chose this answer.
Questions 7-8  are based on the same grant as Questions 5-6 plus the following additional information: After Nicholas's death, Morgan moved onto Wade-Acre, where she ran a web-based search business from her computer. Before Raul turned 21, Morgan died without leaving a will.  

(7) Assuming a court views Morgan’s interest as a defeasible life estate, and finds that Morgan’s internet business did not violate the restriction on commercial use, who owns the property at Morgan’s death?

In this scenario, initially Morgan has a life estate determinable, Raul has a contingent remainder, and Sarah holds a reversion (from Nicholas’s will) and there is a possibility of reverter (whose owner we need not determine).  The condition can only be violated by Morgan, so once she dies, the possibility of reverter fails.  If the state destroys contingent remainders, Sarah has a fee simple absolute.  If not, Sarah has a fee simple on executory limitation and Raul has a springing executory interest.

 (a) Nicholas’s heirs in fee simple on executory limitation, if the jurisdiction destroys contingent remainders. This answer is wrong on two counts.  First, Nicholas’s reversion passed to Sarah.  Second, if the jurisdiction destroys contingent remainders, the remaining interest is fee simple absolute.
(b) Morgan’s heirs in fee simple absolute, if the jurisdiction destroys contingent remainders. If the court finds Morgan’s interest to be a life estate, her heirs have no interest that survives his death.
(c) Sarah in fee simple determinable, if jurisdiction destroys contingent remainders. This is wrong because the condition ends with Morgan’s death.
(d) Sarah, in fee simple on executory limitation, if the jurisdiction does not destroy contingent remainders.  84.1% of you chose this answer. 
(8) Assuming a court views Morgan’s interest as a defeasible fee simple and finds that Morgan’s internet business violated the restriction on commercial use, which of the following would be relevant to determining who owned the estate?

In this scenario, when the condition was violated, it automatically passed to the holder of the possibility of reverter because of the “so long as language” and the complete absence of any language that looks like condition subsequent.  The possibility of reverter would have passed through Nicholas’s will to Sarah only if possibilities of reverter are devisable in the jurisdiction.  Otherwise, it will pass to Nicholas’s heirs, who cannot include Sarah, who is a “friend.”

(a) Other cases interpreting “commercial purposes.” This is incorrect because the problem says that the court already has found that the condition was violated, which makes further discussion of this type of case irrelevant.
(b) Whether the jurisdiction destroys contingent remainders. If the court finds Morgan’s interest to be a defeasible fee, there can be no remainders in the grant to destroy.  
(c) Whether possibilities of reverter are devisable in the jurisdiction. As noted, this will determine whether Sarah can get the property.  This is an application of the discussion we had about Mahrenholz.  84.1% of you chose this answer.
(d) The presumption in favor of fee simple on condition subsequent. The presumption doesn’t apply where the grant is so clearly in the form of a fee simple determinable.
Questions 9-10 are based on the following grant: Tim grants Vivian-acre “to Yeshai for life, then to Becky if she becomes a nun, but if Becky never becomes a nun, then to Christina.”
Questions 9-10 are essentially the same as Sample Questions 56-57 and Spring 2007 Questions 7-8.  Yeshai gets a life estate.  Becky and Christina have alternate contingent remainders (either Becky becomes a nun before she dies and her interest vests or Becky dies without becoming a nun and Christina’s interest vests).  Tim retains a reversion.

(9) If the grant takes place in 2007, all of the following interests are created except:

(a) Life estate in Yeshai.
(b) Contingent remainder in Becky.
(c) Shifting executory interest in Christina.  If Becky had a vested remainder, this would be correct, but Christina’s interest will not cut off a present or vested estate, so it is also a remainder. 76.2% of you chose this answer.
(d) Reversion in Tim. 20.6% of you picked this answer, even though there must be a reversion if Becky has a contingent remainder, which you must have realized she does because you didn’t pick (b). 
(10) Assume Becky became a nun, then died leaving a valid will devising all her property to Dalia.  Subsequently Yeshai died.  If the grant took place “at common law,” who would then have the right to possess Vivian-acre?
When Becky becomes a nun, her remainder vests and Christina’s remainder fails.  However, at common law, Becky’s vested remainder is in life estate, because the grant does not say “and his heirs.”  Thus, when she dies, her interest dies with her.  At Yeshai’s death, Tim’s reversion (which must follow the remainders in life estate) becomes possessory.

(a) Christina, because of the Doctrine of Destructibility of Contingent Remainders.  Christina’s interest fails as soon as Becky becomes a nun (either at common law or today)

(b) Dalia, because Becky’s interest vested before Yeshai’s death.  Because Becky’s interest was in life estate, it could not survive Becky’s death. 

(c) Tim, because of the Doctrine of Destructibility of Contingent Remainders.  The destructibility doctrine would come into play if Yeshai had died before Becky’s interest vested, but it doesn’t affect a vested interest.

(d) Tim, because of the presumption favoring life estates. 85.7% of you picked this answer.
Question 11 is based on the following grant: In 2002, Elan grants Sack-acre “to Jared for life, then to Marc, but if Marc fails to attend Jared’s funeral, Jared’s heirs can take Sack-acre. 
This is a variation on Sample Question 26 and Problem 3J. Marc’s interest is a vested remainder, because there is no condition in the clause creating his interest; the condition is part of the grant to Jared’s heirs. It is not subject to divestment, because the condition can only be violated after Jared’s death, after Marc has taken possession of Sack-acre.  Because the future interest is not held by the grantor, what Marc will get is a fee simple on executory limitation. 

(11) Marc has:

(a) A vested remainder in fee simple on executory limitation. 61.9% of you picked this answer, making this the 4th hardest problem on the test.
(b) a vested remainder in fee simple on condition subsequent. This would be true if the future interest cutting off Marc was held by the grantor or, if in a will, the grantor’s successors.  22.2% of you chose this answer.
(c) a vested remainder subject to divestment.

(d) a contingent remainder.

Questions  12-14 are based on the following grant:  In her valid will, Nicole grants Schwarz-Acre “to PJ for life, then to Robyn and her heirs, but if my daughter Sasha marries a writer, then to Sasha and her heirs.”  

This is a variation on Sample Questions 19-21 and 60-62 and Spring 2007 questions 12-14, which involved an “artist,”  a “public school teacher,” and an “actor” instead of a “writer.” 

(12) Which of the following is true?

(a) Nicole has a reversion. Where a vested remainder in fee follows a life estate, no reversion is created.
(b) Robyn has a vested remainder subject to divestment. Robyn’s interest is a remainder because it follows a life estate; it is vested because she is alive and ascertainable and no condition precedes her taking; it is subject to divestment because she can lose it before she takes possession if Sasha marries a writer. 88.9% of you got this right.
(c) Sasha has a contingent remainder. Sasha’s interest follows and would cut off a vested remainder, so it must be an executory interest.
(d) Sasha has a springing executory interest. Sasha’s interest would cut off another grantee, so it is shifting.
(13)  Which of the following facts would not be relevant to the determination of whether PJ’s interest is best characterized as a life estate on executory limitation: 

(a) Nicole repeatedly expressed concern that if Sasha (who was a writer herself) married one of her writer friends, Sasha would starve to death. If Nicole was worried that Sasha would starve, she would want her to have the property immediately.
(b) Robyn is PJ’s daughter. If Sasha marries a writer, Robyn will lose her interest regardless of how we characterize PJ’s interest, so I see no reason why this fact would matter. This was the answer that had not been in the prior versions of the question. 84.1% of you got this right.
(c) PJ is 78 years old and in poor health. . If this is true, it would seem likely that Nicole did not intend to evict poor PJ, but rather to have Sasha wait until PJ’s life estate ended.
(d) The grant to Sasha includes the word “then.” If the grantor wanted to be clear that the grant to Sasha had to wait for the end of the life estate, using “then” would help to so indicate.
(14)  If the condition that Sasha marry a writer is challenged as being against public policy, which of the following facts support reaching a result in this case different from the result reached in Shapira?  

 (a) It might be very difficult for a court to determine whether someone is a “writer.” One factor that worked in favor of the grant in Shapira was the relative ease of determining whether the sons’ spouses were Jewish girls born of Jewish parents.  By contrast, there might be some controversy about who really is a “writer” (e.g., someone who writes the instructions for assembling Ikea furniture).  Thus, if a court believed this to be true, it might not wish to make that determination, which would support a result different from that in Shapira. 74.6% of you got this right.
 (b) There are thousands of aspiring writers residing in the city where Sasha lives. This supports reaching the same result as Shapira because of the wide range of possible spouses. 
(c)  At the time Nicole died, Sasha was engaged to be married to a writer.  If the grant was intended to break up Sasha’s pending marriage, it might violate public policy (the result different from Shapira).  Here, by contrast, the grant might encourage the pending marriage, which is not inconsistent with public policy. 17.5% of you chose this answer.
(d) All of the above.

Questions 15-18 are based on the following information:  In 1975, Tramell granted Dryer-acre “to Amanda for life, then to Amanda’s children, but if Amanda is not survived by any children, then to Blake and his heirs.”  At the time, Amanda had no children.  In 1977, Amanda had a child, Christine. In 2007, Christine died leaving all her property in a valid will to Eric. 

The grant is the same as that in Problem 3L.  The Questions are essentially the same as Sample Questions 12, 14, 15 and 65.  The relatively weak results on questions 16-17 were a little disappointing since we did this problem in class.
(15) In 1975, the interest in Amanda’s children is a

(a) Contingent remainder. The interest is contingent because no children are born yet. 88.9% of you chose this answer.
(b) Contingent remainder subject to divestment. There is no such thing; subject to divestment only modifies “vested remainder.”
(c) Vested remainder subject to open. The interest can’t be vested because no children are born.  
(d) Vested remainder subject to divestment. Same as (c). 
(16)  When Christine is born, which of the following is then correct?

(a) Blake has a contingent remainder in fee simple. Once Christine’s interest vests, Blake’s interest becomes a shifting executory interest, because it must divest a vested remainder to become possessory.
(b) Christine has a contingent remainder in fee simple. When Christine is born,she gets a vested remainder (because she is living and ascertainable and there is no condition precedent in the grant to the children) subject to open (because more children could be born) subject to divestment (because she could lose her interest prior to coming into possession if Amanda dies survived by no children.).  This answer is wrong because, given the way the grant is worded, the survival condition is part of the grant to Blake, not the grant to the children.
(c) Christine has a vested remainder in fee simple on executory limitation. This is wrong because Christine can only lose the property before coming into possession.  If she moved on to the property, by definition she would have survived Amanda and the grant to Blake would have failed.  
(d) Tramell’s reversion divests. Because initially there were two contingent remainders, Tramell retained a reversion.  When Christine is born and the children’s interest vests, the reversion is no longer needed as a placeholder and the reversion divests. Only 71.4% of you got this right, making it tied for the 5th hardest question on the test.
(17)  When Christine dies, what happens to her interest?

(a) It passes to her heirs. Christine can pass a vested remainder to anyone she wants at her death.  Because she had a valid will, it will not pass intestacy.
(b) It passes to Eric. At her death, Christine had a vested remainder subject to open subject to divestment.  The interest is not (by its terms) dependant on Christine surviving Amanda.  Blake only takes over (divesting Christine’s interest) if Amanda is survived by no children at Amanda’s death.  Since Amanda is still alive and can have more children, Blake’s interest has not vested.  Christine’s interest will remain at least until Amanda’s death, and is held by Eric. Only 60.3% of you got this right, making it tied for the 2d hardest question on the test.
(c) It is destroyed. As noted, the interest can only be destroyed by Blake’s interest vesting, which cannot happen until Amanda’s death.  30.2% of you chose this answer, suggesting you need to read the grant more carefully.
(d) None of the above.  

(18)  Which of the following events would make Blake’s interest fail?

(a) Amanda having another child who survives Amanda’s death. Blake’s interest only fails if one or more of Amanda’s children survive Amanda.  82.5% of you got this right.
(b) Blake dying before Amanda. The grant does not make Blake’s interest contingent on his surviving Amanda.  
(c) Blake dying intestate without heirs. This makes Blake’s interest pass to the state, but it would not fail (which means “cease to exist” in this context).
(d) All of the above.  

Questions 19-20  are based on the following information: Jason grants Carr-acre “to Matthew and his heirs, but if Carr-acre ever ceases to be used as a farm, it can immediately be retaken.”  
This is a new variation on the Mahrenholz problem.
(19) All of the following arguments support characterizing Matthew’s interest as a fee simple on condition subsequent (as opposed to a fee simple determinable) except: 

(a) Most states have a presumption in favor of the fee simple on condition subsequent. This is true.
(b) The grant gives the property to Matthew in fee simple in the first clause, then provides the limiting condition in the second clause.  As we discussed in class, this is the classic form for a fee simple on condition subsequent.
(c) Saying that the property “can” be retaken seems to leave the holder of the interest more discretion than saying that it “will” or “must” be retaken.  Discretion on the part of the grantor is the key characteristic of the fee simple on condition subsequent.  I have used this argument in several prior questions. 
(d) The grant appears to be designed to grant Matthew the property solely for one purpose, to operate it as a farm.  Mahrenholz says that the proper form to use to convey land only for a defined purpose is a fee simple determinable, not a fee simple on condition subsequent.  I was pleased that 88.9% of you got this right, because it was a new problem.  
(20) Which of the following arguments support characterizing Matthew’s interest as a fee simple determinable (as opposed to a fee simple on condition subsequent)?

(a) The grant contains two clauses.   This is typically a characteristic of a fee simple on condition subsequent.
(b) The future interest was retained by the grantor.  This is true of both interests, so it doesn’t help you decide between them.
(c) The grant uses the words “ever” and “immediately.”  This argument is similar to the reliance by the court in Mahrenholz on “only” and “to revert.” These words suggest that the title automatically reverts to the grantor, and so are more consistent with a fee simple determinable. 96.8% of you got this right, making it tied for the 2d easiest question on the test.
(d) Most states have a presumption in favor of the fee simple determinable.  This is incorrect; most states presume otherwise.
Question 21 is based on the following information:  In 1990, DeeAnn conveyed Tanner-acre “to Brendan for life, then to Javier’s children alive at Brendan’s death and their heirs.”  At that time, Javier had two children, Melissa and Ryan.  In 2000, Melissa died, leaving all her property to Scott in a valid will.  In 2001, Brendan died.  In 2003, Javier had an additional child, Arun.
This is essentially Sample Question 59 and Spring 2007 Question 10. The grant to Javier’s children requires that they be alive at Brendan’s death.  Melissa dies before Brendan, so she has no interest to leave to Scott or to her heirs.  Arun was not even conceived at the time of Brendan’s death, so he does not meet the condition either.

(21) Assuming that Tanner-acre has not been transferred in any way besides pursuant to the information above, who owns Tanner-acre in 2004?
(a) Ryan. 95.2% of you got this right, making it the 4th easiest question on the test.

(b) Scott and Ryan.

(c) Melissa’s heirs and Ryan.  

(d) Scott, Ryan and Arun.
Question 22 is  based on the following information:  In her valid will in 2006, Jennifer grants Bowen-acre:  “To Micki for life, then to my children for their lives, then to Micki’s heirs.”

This is a variation on a set of questions I’ve used to test a rule we didn’t cover this semester. Students have had trouble in the past because of a failure to think through the logic of the problem.  The grant is in Jennifer’s will, which means she is dead, which means that any children she is ever going to have are already born.  

 (22) Which of the following interests is created by the grant? 

(a) Contingent remainder in Jennifer’s children if there are none alive at the time of the grant. If no children survive Jennifer, the interest simply fails; it is not contingent because no more can be born.
(b) Vested remainder in life estate subject to open in Jennifer’s children if any are alive at the time of the grant. The vested remainder is not “subject to open” because no more children can be born. 15.9% of you chose this answer. Note that if Jennifer were still alive, both (a) and (b) would be correct, which should have given you a clue to go back and reread the problem.
(c) Vested remainder in Micki’s heirs. A remainder in the heirs of a living person is always contingent.  15.9% of you chose this answer.
(d) None of the above. Only 60.3% of you got this right, making it tied for the second hardest problem on the test.
Question 23 is based on the following information:  In 2006, Brian grants Mason-acre “to Dolly for life, then to Jessica so long as she never tries to sell Mason-acre, otherwise to Mike and Mili.”

This was a new question. The condition here is a flat ban on alienation, which is invalid everywhere, so it would simply be penciled out. That leaves Jessica with a vested remainder in fee simple absolute and leaves Mike and Mili with nothing but a good name for a vaudeville act. 

(23) At the time of the grant, Jessica has a

(a) Vested remainder in fee simple determinable.  Even if the condition were valid, this would be incorrect, because the future interest is not held by the grantor.
(b) Vested remainder in fee simple absolute.  Only one of you got this right, making it far and away the hardest question I’ve ever put on one of these tests.
(c) Vested remainder in fee simple on executory limitation.  If the condition were valid, this would be correct.  84.1% of you chose this answer.
(d) Vested remainder subject to divestment.  Even if the condition were valid, this would be incorrect, because the condition could not be violated until Jessica took possession of the property. 
(24) All of the following were true “at common law” except :
This is a slight variation on Sample Question 48 & Spring 2007 Question 2
(a) Courts recognized the traditional estate of fee tail.

(b) The Doctrine of Destructibility of Contingent Remainders applied.  17.5% of you chose this answer.
(c) Executory interests were not permitted. Before 1536, no executory interests were allowed.  Since 1536, through the period we describe as “at common law,” both kinds have been allowed.  Only 71.4% of you chose this answer, making it tied for the 5th hardest question on the test.  
(d) The default present possessory estate was the life estate.
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